[ rpe— Fresd—w s | b ikt
ad juatment blses dpos kA servo

srismtation=palen

i D
e R
i T | I
s 2 |

(EEE) s

2ped LT Bra :hl

4 " laft srd
right bear

B sarve
&r iEntat ien pelen

Sping oonzrol bleck

G il ||i-1‘. A G-guokatB

[ X X ] i
3
133 ]
[EX] .-'E'-.
Lk K
Snnr-u gaskeats i
and nute placc adjuat & Plaze adjuct B

Q¢ Bb

Zroar-wheal 2 :ph-r:::t 2 hal f bal i 3

regulater drmbara
[) ®4 Bamba | locs

P
) @5, Bmm bal |l 2pcs

I‘:: N hexagon nuts 2pcs
(©

@3 1 gaskat 2pcs

rear=snasl mElghit

ot just bl ook dpes

n || OT=

% spare bleck front motherbeard cormecting red

Arambnre

== M3X16 screw 2pos

MIXZ2 screw Bpcs
MIXB screm dpcs

M:XE sink screw 10pcs
— M3X15 bol+ 3pes

[I:I ME. BX10 serew 2pos

front ahatt A Tpss

fromt shaft B 1pcs

"L" wrench 1pcs

metal wrerch 1pcs

ar_

-

2

spare rope 2pcs

Model Car

Operation Manual

'™

Namz:Mcdel Car

No. :G7E8

Mznutecturer:Dongguan BDS Techrology |imited
Address:3nd Liubua |Industrial District,
Dongcheng District, Dongguan City,
Guangdcng Provirce, China

Preduct Parts Skeleton Drawwing

replace the part can adjust
the rear-wheel| spacing




Servo assembly and adjustments guide

@ Hitec
@ Futaba

Servo assembly and adjustments guide

~,
o/ S ) .
9_\ pare 1. %'ou can choose different plastic paris at
@ )R A and B as desired. ; o
~, 2. Depending on the servo provided you must Hold the battery with the plastic cinch
© ) 5anwa =zelect the right plastic part in the C position.
Install different adjunstment blocks to
adjunst the height of the front wheels.
looseness
. . - adjust the screw
Inztall the piece =hown to adjunt the angle wrench 1 ighten can change the
of the front wheel. \ gear' s placing.
Turning the know with a wrench can adjust
the tightness of the differential gears.
4°76°
000
[j @ 5. 8mm ball 2pecs o n
. o 000 2" 3
0 M3 nut 2pcs The servo can be placed to the front or
O backwards depending on the selected hole . . .. 0°
o0 0o
@ ®3.1 gasket 2pcs Use the height adjustment block to
| M3X16 screw 2pcs change the height of the rear axie By adjusting these four different locations
. \\‘ can adjust the angle of the front wheel
= M3X8 sink screw 2pcs

ﬂ Hole diameter 2.8mm

Tm=  Zmm 3mm dmm

AARR

Aszsambly the adjustment blocks to adjust the “ou can use some glue in case the wheelis
By =electing pieces D or E you can adjust the buffer =pring. loo=se from the tire.

left and right front wheel's angle.



